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However, by a Jewish court, once the verdict was issued to Kill, they
will certainly Kkill him

OVERVIEW
The »nKk7 XK of 7O 27 maintains that by a X > 5w 7" 1 if the death penalty
verdict was issued, he will surely be killed. n901n clarifies a possible difficulty.

Mmoo responds to an anticipated question:
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Even though the 71w» in 9977730 NO0n states, that there was one person riding on
a horse (following the one sentenced to death) and another person was standing by

the 7"2 and was holding cloths in his hand -
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If the 7"2 found a merit for the accused which would nullify the death penalty,

this person would wave the cloths and the one on the horse would run after the accused
and return him back to 7"2. In any event it is evident that even if he is 217" X¥1°, he may be
spared, so why does the X713 assume that he will certainly be killed.

mooin replies:
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Notwithstanding the above, it is uncommon for him to be recalled; therefore we assume
that he was killed.?

SUMMARY

It 1s uncommon for the accused to be recalled; therefore we assume that he was
killed.

THINKING IT OVER
What is the difference between the question of »2aX and nvo1N question?

!'In our N3 the text reads, X9UPY R1PT 9% 2537 11°3 (instead of X9UPS 7317 W1aT 11D).

2 See *"wA there 010 1"7 who writes, PRINMI 27XM) P2POIT IR 71772 2P RPW 727007 N°2 TX ¥ TwHI1 010 HY 2911 a7
177102 9°2° OXR INIRI? 921W 72721 1Y 892 1772 PA70aw A, The translation here follows >"wA. See nwn nbma.

3 The requirement to assume that he was killed is only in special circumstances (to allow his wife to marry),
otherwise it is irrelevant (whether he was killed or not); so we assume that this particular case (where we allow the
wife to remarry) is from the vast majority of cases where he was killed, rather than assuming that this case is of the
slim minority.
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